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1, (@) (i) Writing down all the figures shown on your calculator, find the va!ue_of

1424175
6.31

ANSWEL: avrveccaenasiemeenes eaerrarrensasrratnas wee 2 (2)

- (ii) Write your answer to part (a) (i) correct to 2 significant figures.

Ansﬁer: [ S —— e (1)

(i) Write your answer to part (a) (i) correct to 3 decimal places.

ANSWET: cveeverreiesrassassassssesaasasasannsssanassans (1)
(b) Consider the expression
6128
- 9.7x18.3
(i) (a) Write each number of the expression correct to 1 significant
figure. o
Answer: R e )
X

..........................

- (b) Calculate your answer 10 part (b) (i) (a).

ANSWET: oottt eeeeee e eaaeen &)

(i) Giving your answer correct to the nearest whole pnumber, evaluate

6128
9.7x18.3

ANSWEL oot (2)

S.A. 2836328 - 2



2. Shares in Mollusc Oil are priced at 3714 pence each.

o (i) How much does Peter pay for 750 shares?

Answer: s e st (@

- {ii) Peter sells the shares for £3186

- (@) How much profit does he mak.e?‘

ANSWET: £ .etrveeireeeimsnsereresesemssessoiensanss (1)

(b) By how much has each share increased in value” .
lee your answer correct to the nearest penny.

ANSWEr: ...ceenevn.. TR TR p (1)

(iii) H elen spends £1783.20 buying Mollusc Oil shares when -they cost
3715 pence each. |

How many shares does she buy'?

ANSWEL: cvvererermecssnasnns S —— (2)

S.A. 2836328 < ‘ Turn over
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2. (a) The ingrediehts needed to make 12 scones are @

250 g flour
30 g butter

180 ml milk

Find the ingredients needed to make 18 scones. -

'Ans,wer: flOUr .uvarssesenees coeinenee @
- BB cissssssserasionss @
101111 GNP ml

(b) Farmer Archer keeps pigs and hens in the ratio of 2:35 -
(i) What is the number of pigs on the farm if there are 175 hens?

Answer: ....... AP g iareensess .

(iiy Farmer Archer sells 4 pigs.
How many hens must be sold to keep to the original ratio of 2:357 |

(¢} In triangle ABC, the angles A, B and C are in the ratio of 4:5:6
What is the cizo of the largest angle? -

Answer: ........

’ o



4. (a) This term there are 675 pupils at Upton Middlo School,
Next term the number of pupils will be 4% more than this torsm,
~ How many more pupils will there be riext term?

= Answer: lllllllllll illlF.lvfldlfiilf!‘ll!d‘-‘l‘ldllfl}!lf‘.ll ) (2}
- (b) By nextterm the number of staff will have decreased from g0t 76
By what percentage will the number of staff have decreased?

- - 5 ¥
ANSWET: ceevviasascosomensavssssrasssasnsssiiss e {2

5. How long does it take to travel 1800 metres at 30 kilometres per hour?
Give your answer in minutes and seconds. . '

BOENBT. orwes i sisin ETRTY msvusammmesnen czc {2

S.A. 2836328 5 Turn over
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' ' i cars which
6. Ali stands outside his school to record the number of people In the

pass him during a 20-minute period.
His results show the total number of people in each car.

1 2 1 1 2 3 4 1 1 2

3 4 5 5 2 1 4 3 1 1

2 2 1 2 1 38 1 1 2 1
Ali records his results on a tally chart.

~ (i} Fillin the chart.

number of
people in a car

1 | o &

tally frequency

Wl N

1471

| .
tota . (2)

Use the chart to find

(ii) the modal number of people in each car

ANSWETT tovveeivieeneeeeeaeeeemranain, )
(iii) the mean number of people in cach car

ANGWEOT: iieiteseerseeieesrnseon (2)
(iv} tho median number of peoplo in cach car.

ANSWOT oeriiteeeeaeassiene (n

S 2806328



Ali wants to display the information shown in the tally chart
He decides to use a pie chart

{v) Draw the fully_-labelled pie chart,

(4)
(vi) Using the data from the tally chart, estimate the number of cars, each
containing 2 people, which would pass Ali during a 2- hour perlod
ANSWET oot esieeess e (1)

S.A. 2836328 T 7 -~ Turnover



7. {(a) Solve

) 5 =4

Answer: p = Lieesnse pesesvaeerenes (1)
(i) 5q —3=3g-9
Answer: g = PRI (2)
(iff) %(2r -3)=6
ANSWER: F= ooeeeeereererrn (3)
(b) Solve the inequalities
(i) 3x—4=<26
Ly — (2)
(i) 17 — 2x< 2 "
ANSWET ot (2)

(iii) What are the integer values that satisfy both the ine

: qualities in parts
(b) (i} and (ii)?

Answer: ..., I (1)

S.A. 2836328 : 8
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d
c
a
= L3 —ai
not to
scale
b
’ i
W _ X

| WXYZ is a'squaré. S
Calculate the size of each of the angles marked &, b, cand d.

ANSWET @ = eeieinicnrnrnsnsansesins

ANSWAE 5= amesnsemssscimmsnses

ANSWET: 0 22 cuvmeereeeeeereniaanarens

S.A. 2836328 9

ANSWEN D = oo

S )
e (1)
e (B

i@

Turn ocver



0.

A, B, C and D aro vertices ofa regular polygon.

The ¢ize of an interior angle, ¥, is three times the size of an exterior angle, x.

(iy Caleulato the size of an exterior angle.

L= J

Ansvier: AR )
(i) How many sides does the regular polygon have?

Answer: ........ (1)
(i) What is the sum of the interior angles of the regular pclygon?

ANSWEL oicciiviiieceeceeeeens - (1)

10, (a) A map has a scale of 1:50 000 _
How many centimetres represent 1 kilometre?
ANSWEN: .oooooo em (2)

S.A. 2826328 10



(h)

f‘\d\\m rng a lridngular orlmteorfng course. He sets off from school (S} and
funs no:m ecast for 4 km o a monument (M), .

(R ing a scalo of 1:50 000 find and mark the posmon of M {2

On tha second Iog ho travels 2.5 km from Mon a bearing of 125%foa telephone
box (1)

@

() Find and mark the position of 7.
Adan then roturns directly to gchool,
ity How far I3 it from tho iulephone box to oChOO]7
ANGWEL: 1vrrsvesserearsvsossessserns R km  {2)
(lv) What Is tho bearing of §from T7
BVSIIES i ssssuiarcisamnidinior S . . (2)
i1 | Turn over

S.A, 036328



11. (i) Acircle has a diameter of length 7 centimetres.

Calculate

(a) the circumference of the circle

ANSWEE: oevsoceesrarsssssasssmsmssssssnssnssess G (1)

(b) the area of the circle.

ANSWEL eveeieeeeeeeseeeereeeerreesseeeesssans cm?

(ii)y The diagram opposite shows a net for making a small cylindrical tin of |

diameter 7 centimetres and height 6 centimetres.

Rectangle ABCD folds round to make the curved surface between the
circular ends. .

(a) Write down the length of AB.

. ANSWEL: ... cm

VE

S.A. 2836328 12
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(1)



B T e o e Il

6 c}im
Y
A B
not to
~—-7cm-—- scale
(b) Calculate the area of metal needed to make this tih.I |
Answer: ..,; .................................... cm® (2)
(c) Calculate the volume of this tin.
ANSWET: ovorssseeresnsissesssmssessmisisasiess cm® (2)
13 “Turn over

S.A. 2836328




LR (i) When y = x®— 2x complete the table of values

id opposite draw and label the curve y = x* = 2x
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» : y% ! |
L) : | H |
e s ! 8

=17 i) f 0 o s A ) S (5
: ! { e |
| |
| 1
| }
CETl . l

i

‘ | | L .' *‘

e D ALpiaispdin ot
SEEEER m}!k; aicuss SREEISER I REEEY

]} Jii”:i?”i?.w! Pt

kL =)

‘Emn your graph, read off the negative value of x which satisfies

B



13.

not to
‘ scale

24 cm

A company logo is formed of two right-angled triangles as shown in the
diagram. ‘ ! o
(All measurements are in centimetres.)

(i) Calculate the lehgth X.

ADSWEBTS X5 eommismiiirinissnmssbiues veereens CM

(ii) Calculate the length y.

~ Answer: Yy = s IR S cm

(i) Calculate the perimeter of the logo.

AN S BT, cirriiiinereriseestenrenrareranasnsenens cm

(iv) Calculate the area of the logo.

ANSWET: oveevveaeens NI ereenes cm?
{Tatal marke 10M

@

@

@

(3)




